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(Sphere) A = 4nr?, (Cylinder) A = 2nrL, (Sheet) A = L? + L*(two sides)
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F = ma’, T = 20 + Vot + iaxtz, Vp = Vg + agt
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7ln(b/a) Cylindrical, C = 4meg

A
C= 607 Parallel Plate, C = bb Spherical

(series)l/Cequiv = 1/C1+1/Ca + ..., (parallel)Cequiv = C1 + Co + ...
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p = po = poo( 0, =g
(series)R = Ry + Ry + Rs... (pamllel) —_—  — + — + ..
(charging) Q= Qo(1—e 7)), 7=RC, CV=Q, I=—¢ 7o

(discharging) @ = Qoe_%, I =———¢ &C

Constants

e = 885 x 10712 £ — 8385 10712 ;&

Nm2

e = 1.60x 1079 C Mejectron = 9.11 x 10731 kg



